e

l'rz} V=S00tmi "0 cLaskn  ee e

1,61 -]
’ 197 P..‘\
@k,lo\\cko\ ¥ lwe) - TR EL TN ¢ “]/35/0 01992 1v° s
?1 - “‘h |°§P .
novs Ubive S, ¢ . o
g it P l‘ﬂ TTYE l‘LS’Cd.u
d < 150 ww ¥ J : i
PP \M a \M.l "“'5 0O  bladive n 'z
* S'o(, X % O ! tl‘ fl-p‘ L I o
Wi, 4)S m et L T
Ae dot
9016 4
- v e = 0,2002 wm/s
60 T (0,I5)
084 9% 0,IX- Pos, 6 " 0)2%
. € 00 A e, = I
4,61. 10-2 r‘od[( (i*)ﬂ‘] 47120 )% 0}03‘71 ( C)
oPiye 0)/<- 31 P 33 - 0,03
< 10392 (30
o Geszia | 20 o)

$C (
| > . yn vt
O _ NI 10~ 2250 g (,’a hy 3\ v?
s - oS ¢ e d ra

D = 0,360L = A2, 4% + "z[%* I"} 32.

"‘1 %m + 010‘233] + 3,2924

hy e 42063 m — U (5 temnon 450 )

—

)
hl S '17.,43 ™
we
4.‘” “s- ‘0]” ‘. 0,01'11 O) e } 3 ’S,zsz/‘
P GOL— "~ 3333 25, ouis & =
« : Rl
b, < 43,03 h, - )\:‘- Stom g PO bap. vid

g oo PR



